\}/(2 pts.) Provide a single C++ statement that prints, to standard output, the number
of elements (items) in a C++ STL vector named someVec, whose elements are of type
float.

std. L ot € Some Vec ,Size (),

7. (2 pts.) Provide a single C++ statement that prints, to standard output, the number
of bytes used by C++ STL vector named someVec, whose elements are of type float.

{
SH ! :FC_Q\J"' <C '532{3 o-p (50/“& l/fc)/

—4. (2 pts.) Provide a single C++ statement that prints, to standard output, the number
of elements (items) in an array named someArr, whose elements are of type float.

A ! cotec sizedt(someder)/s 20 F (Float);

= \/5 (2 pts.) Provide a single C++ statement that prints, to standard output, the number
of bytes used by an array named someArr, whose elements are of type float.

SHd. . Cout < SPZeo'p (SDWGA://)

oo ‘} (2 pts.) Provide a single C++ statement that defines an array, named aNums, of five
unsigned integers and initializes it to contain the elements (in index order): 3, 1, 4, 1,

D.

\jV'le?Vde Nat a_/'/méféj ® %5; l) “, ,)5-3/'

7.(2 pts.) Provide a single C++ statement that defines a C++ STL wector, named vNums,
/of three unsigned integers and initializes it to contain the elements (in index order): 2,
3,.5.

et/ Crdnsigived nt > yMoms ?Z/ 3, ‘;T“j/
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— 8. (17 pts.) Provide well-formatted source code of a complete C++ program that

—=-(a) Defines the array aNums as in Question 6.
— (b) Defines the vector vNums as in Question 7.

——(c) Prints the elements of aNums on standard output on a single newline-terminated
line, with a single space after each element.

— (d) Prints the elements of vNums as above.

—(e) Swaps second element (that is, the element at index 1) of aNums with the second
element of vNums (so that the new second element of aNums is the old second
element of vNums, and vice versa).

(f) Extends vNums to contain five numbers (instead of the original three), with the
two new elements, in index order, being the corresponding elements of aNums.

(g) Prints the (current) elements of aNums as done earlier.

(h) Prints the (current) elements of vNums as done earlier.

Poorly formatted, messy, or otherwise hard to read code will result in very
substantial loss of points. Ezplain your answer briefly, especially for better partial
credit.
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[additional space for earlier material]
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e %15 pts.) Provide well-formatted source code of a complete C++ program that

(a) Defines a function vec.zero_some that sets some specified elements of a given
vector of ints to zero. The elements to be set to zero are specified by an array
of ints, whose elements are the indices of the vector that are to be set to zero.
In more detail, the function takes three arguments, vec, arr, and n that are,
respectively, the vector of ints that is to be modified, the array of indices of vec
(that are to be zeroed), and the number of elements in arr. Invoking (executing)
the function should result in all elements of vec that are at an index position that
occurs in arr being set to zero.

(b) Demonstrates the operation of this function using a suitably defined vector and
array, both of whose elements are printed before and after the function is invoked.

Poorly formatted, messy, or otherwise hard to read code will result in very

substantial loss of points. Ezplain your answer briefly, especially for better partial
credit.
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